EAGRAROBREERT — 2 N— ABISH —F

201968300 (H) 7mE{Z&E2H

m C1—12# C1 ¥5%4m L ‘ [%1g] 2 ‘ [BERE] — | 4 (K) 13000 R
[AE4£] 1% :280,000 " ~ 23%&:84,000H”  33%&:28,000M . 43%&:17,000MH . 57%&:11,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N N BER— 122, ~7-3- . - JIBEZEF (£8)
gl x1vam=axs i 4 e 1(2_2)9 6-7-3-4 | 37.7 1 (4_273) I =]
R:ig— pLEYIL B:ET/ALO Frilithis
=5 N BERD :23. -1-1- . — BEXE (£8)
2 6 75— 4 4 S 1(32/34)1 1-1-1-1 | 38.4 2 (5_192) :F#g =
L:Jq 7 hT—lbEY B:7O-L XA =Eivie
— S . HKFRA : 00— - FIEE (1£R)
3|7l | FTLZ777Ir—E feoa ¥¢53.0 1(723{:) reo2 |83 ’ (4_553) :.:'ﬂ%;ﬁé e
LTIRAFVAN BiFLTEF—Fy R WwE SIS
S, B 4 | EBERE 1:23.6 7-6-4-3 |38.4| — 6 506 | BBITIE (1£H)
41810 [N 2 B 54.0 (2 1/2) (-4) BEBHEX
L:Er/0704 B:o—Hty— AL
3 s 4 4 | AIEF 1:24.1 5-4-6-5 |38.9| — 4 424 | FIIRF (£E)
5/5|5|#7VOY> 54.0 21/2) 1) | () J PN
L:Z2bhE>T)E—-r B:FsTIL—F =t e}
8, /5 ITaE . -9-8— . - AB®Y (58)
6 2 SHEILF LY 4 4 ek = 1(12/42)2 9-9-8-7 | 38.1 7 (4+723) L g
R hT—IVEY BiLAFTIA K BHI Ty — L
. s : 35— - HIEF (£8)
7179 EXTH— K 4 4 ue 1.(214>.4 3-3-5-6 | 39.4 5 ::s) viﬁzaﬁ (=8
:8— MUK B:RTFRKIXF/INLR HEIS
8 3| B ML aT H o7 sé-;%ﬂléi’a 1:(224).8 8-8-7-8 |38.9| — 8 471 Zgﬁﬂ (#£8)
R:ZYr T hA—G7—FK—F B:Hr/HIT 9 | Ziemanss
LA 4 5 | FHARIK 1:27.0 11-10-11-11{ 40.3 | — 11 416 | MIHEZ (EH)
9|11 |FIE— 54.0 (24 4) (-q) |BFREX
R:N—HNK B:eQasyIsrh Ly
- pra— 2 11-10-10| 40.2 | — INEBEEF ((£8)
9 7 Ty F 4 E— R 4 4 i 1“%]27%5) 10-11-10-101 40.2 3 (4_6;) e =
L:O—KA+A7 B:I7LyFrOvH [HEEe)
o BEE= . 5-9- _ B2 (E8)
nWla|zr-7uex o 5% B | T T | man
LN=Y774 B:Fky k32K AR R
® 1 —F—EBIERL
13=7r= 6,8,9,4,5,11,10,3,2,7,1
23 =7= 6,8,9,5,4,10,11,3,2,1,7
Gal=7r= 6,8,11,10,9,5,3,2,4,7,1
41—+ — 6,8,10,11,5,9,2,3,4,7,1
[ N3
B O 1 300H 714K 6-11 290M e 6-8 400 3JEHE 6-8-11 3,510/
8 B " 1509 8-11 1,010M B = 6-11 750M K31 11-6-8 11,060M
6 1909 6-8 860 B H 11-6 1,350
8 420M

ARICOVWTRDTEEERROODE. TR LI,




